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↑

#16/091 f(z) = zn ·
k,ncx
1kk <n

1) f he pols di odine I wells a solution
d zn+ 1 = 0 z =eE+ica

a =1,...,n

Ondine as preci:2" =(z -ze) ... (z - zn)

I Salton(2-2) comperiors all potup I al
denominate.

Rimane do controlline z = co:

f(z)z0 z1E) =zz- r(1 - 0(En)
mo

k -nce =f(z) - 0

z-0

=> fingdove a z =0.

2) Do call colo sope redias she serve:K-m = - 1

=>kx=1 - 1



" Sf(zldz
=24iE Res.(z)

a=1

too intero

= -2iResf (c)
too.esteno

=> ERes(z-) = - Rs,(0)
=E91k

+

kik.
Es 2: 120 - 22= 0

1) P(t,a) -> B(t,k)

Ezj(t,k) +kp(t,0

=> colt,k) = - k-Je)
Solusions: ↑(t,k) =eick

+

a(k) +eick
+

B(k)



P(0,u) =g(u) => p(0,k) =g(k)

2p(0,n) =h(x) =25(0,b) =G(k)

=>G(k) +B(k) =g(k)
i(k(X(k) - p(k)) =G(k)

g(n) +Elk =

2f(k) =G(k) = 1(g -ih)

j(k) - (k) =2B(u) =p(k) = E5 +it).

2)
P(t,n) =JdR P(t, n) eike

=SdMG(k)e-ik(a
-ct)

+SdRB(k)e-ikfecthe
mo mo

F- (x](x -ct) F-
r

[B](x+ct)
ma mo

Pu P2

Es 3: 2 -nonez 5.0.c.su[((0,2T])

1) (zino, F(01) =d0 no cosET

M= 0 ei0= 2, dz =i ed0 =1 zd0



=fdzz
-

z+1/z

(21=1 z

-Sdzzrz+E
= -iodz z+2

~

z
== VER - ES-R
2.4 - 10 +2 =0

21/4 - 5/2 +2 =
0

-~= -fdzZ1(z +1)
nso:urizsinglati all cachio untano i

ple in z =- 1/2

= - exi
lle)"
(- 1 +2)

=2+k)" =2+
=Xn

Percalcoloe X can a negative simsche:



** =(:d00 F(01)=hoinsoend
=X

- n

↓ yie
calculato

Meacica--a
set

= zz - n +e
=(+E(-1)=1 =0 i

#06/22
Es 1 f(z) domonfo su Imz-0

I(w) = Sdaan

"+x(



Possiano chindle can onco a 20 se:

him CHR In Max 181 =0

R+ y Va-

=> MaxIf1 cese on Re 28 mendi R.
UR-

=>I(w) = - 24i+Resce,e↓

solo singelowta
in w wel

semipen inferior

-him &NEP]lzw
z- W dz

= f'(w).

↑

2/**
x =

=

+E

F(w) = 3x2+i +ResE (zi +Eie) [i]
+Rexm(z +21)(i +13]



= - lim((z - i)(1 +Ei
-

)]
-him [(z - i -1)(tm)-(i+E)]
z+ i +1

=Eric- f()
3)

***-- -- z
=iy,yc1

↑

f(z) =l(1 +iz) st
foustr (iy +5) =ly (1 -y +is) =lg(y - 1) + i+)

finiste (iy -5) =log (1 - y - if) =l(y - 1) - iπ

↳<

I(w)=lm-nohccen



dz= Elim [Sdeft -s tteUpt
2- ot R

sim-
- Sdzza - Saya of foreste 1-

↳ (iy-
w)z

(dz=idy)

⑥ SdzEe 0 pule vyou goitre

·Ideal Idolaer |
z =i-is

0 c (0,2i]

= CTE Max Ilg(sei) / (1 + 0 (5)) -> 0.
9-0+

S-0+ Oetgeni

ꋾE)*0 2
=1lgs)(s + 0 (eys/)

· Gdeflz, to pechinon risinglonitaat

=> F(r) =Edy,Fris)
= - i9dy,yp =

-yy(jv)!=-



= - + in = iin =f'(w).

Es2

Tc[b](t) =fdt'G(t - t)p(t)
Tc[P](t) =2d(t)

1) G -LV(R)

Applicando Fall d.ogh autovalon

I(w) (w) =2p(w)

2) G(t) =P(E) =m is +E is

-him se

G(w) = limSdttsand

-him 0(w) ciRestan [iz]
+O(-u) fuiReStAsela[ - is]]



7-+ 0+

=> lim[ocusutize.Res+eW
=lim [Hi 0(w) i- 2w - xi8(-w)es]
2- ot

=Hisgn(w)

=> isgn(u) (w) =1 P(w)

3) Se Ilu) to adopa wso:

Ti lul:1P(u) => soddistateon
7 =T

Se plus to solo
ou wso:

-Hi P(u) =7P(0) -> sddisfatto can
7 = -πi.

Es3 se()nzs.O.C. su H Hilbert

1) f(x) =2(1) +ep)
f(2) =2(1) - e(u) +j(s)



f(z) =e() - 2(2) - 2() +3(4)

"

f(n) =2(1) - 2(2)-... - f(n) +e(n +1)

Pereduse Icomplete, assumious che] v
can (f")v) =0,0M. Dobbiano mostone che

V =0.

v =zXne(),0 =(f",,v) =2z

=> xz = - x.

8 =(f(),V) =x1 - 42 +1y =2x1 +x3 =6s = - 24.

0 =(f"),v) =x1 - 42 - 43 +dy =11 +11 +2X, +x4

=>x4 =
- 4x.

Previous for inductions:n = -22
Assumion sie vers per fulti glinsk. Allow:

0 =(f(Y,v) =x. - xz - 43 - ... - Gp +xk+c
=>=4 +(zu2n-2)a +2m+



=2 +(,zzzi)x +Gm +1

=x. +2n
- 1

X. +xk +1

=X +(24- 1 )X. +Gk+1 =xkx= -24
-

1

&n =2m
-

2 deve esse in l

=>G =0 =) (n =0fn=1 =V =0.
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